EGM 180 Take Home Quiz 5

Due Wednesday Feb 19th at the start of class

Assume that your universal remote has been damaged and you can no longer set the IR communication protocol used by that device.  Instead, the remote uses a “default protocol” that is unknown to you to encode its control signals.  Explain how you would proceed to: (1) decipher the IR signals sent by this damaged remote, and (2) use those signals to control your Boe-Bot.  In describing how you will decipher the message that corresponds to each key, you may make the following assumptions regarding the functionality of the remote and the signals it sends:

· The carrier signal is the same as described in class.
· The message sent for each key depressed on the remote contains exactly 13 data pulses.
· All pulses are “low” pulses not “high” pulses.
· There is a long rest state between messages.

· The message sent for each key depression begins with a “start pulse” that is longer than any of the data pulses but shorter than the rest between messages.
You may include segments of code in your essay, but you are not required to do so.
Your essay must exhibit appropriate structure.  It should have an introduction and a conclusion.  The introduction should include a thesis statement---your argument reduced to one sentence.  

The building blocks of your essay are paragraphs. A paragraph represents a distinct step within an argument.  There's no rule that a topic sentences must come at the beginning of each paragraph, but that's what readers are used to, and that's what they find easiest to follow.  In a good essay, each paragraph should have some logical connection to the one before it.

Careful proofreading and revision are crucial parts of the process of completing any essay.

